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B Ballistic deposition 0 00O 00O OO O

#include <stdio.h>

#define SIMPLE_SPRNG
#include "sprng.h"

#define SEED 985456376
#define _L 400

#define _HEIGHT 300
#define _PARTICLES 20000

main(){
FILE =*datafile;
int x,y,t,hl,h2;
int h[_L],particle[_L] [_HEIGHT];

datafile=fopen("BDMODEL.dat","w");
init_sprng(DEFAULT_RNG_TYPE, SEED,SPRNG_DEFAULT) ;

h1=0;
h2=0;
for (x=0;x<_L;x++){
for(y=0;y<_HEIGHT;y++){
particle[x] [y]=0;

}

}

for (t=0;t<=35000;t++){
h[x]=0;

}

for(t=0;t<_PARTICLES;t++){
/* 000000000000 0oOoOoooogogg =/
x=(int) (sprng()*_L);

/% goooboooboooogoono =/
if (x==0){
hi=h[_L-1];

28



}

elseq{
hi=h[x-1];

}

if (x==_L-1){
h2=h[0];

}

elseq{
h2=h[x+1];

/* 000000000000 0O0O0 */
if (h1>h([x] && hi1>h2){
hx]=h1;
particle[x] [h1]=1;

}
else if(h[x]>=h1 && h[x]>=h2){
hx]++;
particle[x] [h[x]]=1;
}
else if(h2>=h1 && h2>h[x]){
h[x]=h2;
particle[x] [h2]=1;
}

for (x=0;x<_L;x++){
for (y=0;y<_HEIGHT;y++){
if (particle[x] [yl==1){
fprintf (datafile,"%d %d %d\n",x,y,particlel[x][yl);
}

3

fclose(datafile);
}
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C DominomodelOOOODOOONOO

#include <stdio.h>

#define SIMPLE_SPRNG
#include "sprng.h"

#define SEED 985456376
#define _L 400

#define _HEIGHT 400
#define _PARTICLES 20000

main(){
FILE =xdatafile;
int x,y,t,i,p;
int x1,x2,x4;
static int h[_L],particle[_L] [_HEIGHT];

datafile=fopen("DOMINO.dat","w");
init_sprng(DEFAULT_RNG_TYPE,SEED,SPRNG_DEFAULT);

for (x=0;x<_L;x++){
for (y=0;y<_HEIGHT;y++){
particle[x] [y]=0;

}

}

for (x=0;x<_L;x++){
h[x]=0;

}

for (t=0;t<_PARTICLES;t++){

/ [0D000000O00O00O0DOO0O00Od */
x=(int) (sprng()*_L);

/ [D0000000O00O0O0O00OO00O0O */
p=(int) (sprng () *2) ;

/* QO0O00oooooo */

30



/%

x1=((x-1)+_L)%_L;
x2=((x+1)%_L);
x4=((x+2)%_L);

goooooooooooogd *x/
switch(p){
case O:

if(h[x11>h[x] && hx11>h([x2]){
h[x]=h[x1];
particle[x] [h[x1]]=1;
hx]++;
particle[x] [h[x]]=1;

else if(h[x]>=h[x1] && h[x]>=h[x2]){
for(i=1;i<=2;i++){
h[x]++;
particle[x] [h[x]]=1;

else if (h[x2]>=h[x1] && h[x2]>h[x]){
h[x]=h[x2];
particle[x] [h[x2]]=1;
hx]++;
particle[x] [h[x]]=1;
}
else{
printf ("ERROR1\n") ;
}

break;
case 1:

if(h[x4]<=h[x1] || hlx4]l<=h[x] || h[x4]<=h[x2]){
if (h[x11>h[x] && hlx1]1>h[x2]){
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3

h[x]=h[x1];
particle[x] [h[x1]]=1;
h[x2]=h[x];
particle[x2] [h[x]]=1;

+

else if (h[x]>=h[x1] && h[x]>=h[x2]){
hx]++;
particle[x] [h[x]]=1;
h[x2]=h[x];
particle[x2] [h([x]]=1;

}

else if (h[x2]>=h[x1] && h([x2]>h[x]){
h[x2]++;
particle[x2] [h[x2]]=1;
h[x]=h[x2];
particle[x] [h[x2]]=1;

}

else{
printf ("ERROR2\n") ;

}

else if (h[x4]>h[x1] && h[x4]>h[x]

3

elseq{

}

break;

default:

h[x2]=h[x4];
particle[x2] [h([x4]]=1;
h[x]=h[x2];
particle[x] [h[x2]]=1;

printf ("ERROR3\n") ;

printf ("ERROR4\n") ;

by
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for(x=0;x<_L;x++){
for(y=0;y<_HEIGHT;y++){
if (particle[x] [y]l==1){
fprintf(datafile,"%d %d %d\n",x,y,particle(x][y]) ;

}
fclose(datafile);
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D Ballistic deposition] w,, 0000000
O00L=4000000

#include <stdio.h>

#include <math.h>

#define SIMPLE_SPRNG

#include "sprng.h"

#define SEED 985456376

#define _L 400

#define _MAXT 20000

#define _SAMPLE 1000

#define _A 10000

#define _INTERVAL 1000

#define _N 10

main(){
FILE =*datafile;
int x,y,t,i,j,a;
double h1,h2,suml,sum2,hl_av,h2_av,bunsan,delta;
double w_bar,wl,w2,w3,wd4,wb,w6,w7,w8,w9,wl0,wll,wl2,wl3;
static double h[_L],width[_MAXT],w_av[_N]

datafile=fopen("width.dat","w");
init_sprng(DEFAULT_RNG_TYPE, SEED, SPRNG_DEFAULT) ;
for(j=0; j<_MAXT; j++){

width[j]=0.0;

}
for(a=0;a<_N;a++){
w_av[a]=0.0;

+

for(i=0;i<_SAMPLE;i++){
j=0;
h1=0;
h2=0;
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for(x=0;x<_L;x++){
h[x]=0.0;

for(t=0;t<=_MAXT*_L;t++){
x=(int) (sprng()*_L);

if (x==0){
hi=h[_L-1];

}

elseq{
hi=h[x-1];

}

if (x==_L-1){
h2=h[0];

}

elseq{
h2=h[x+1];

}

if (h1>h[x] && hi1>h2){
h[x]=h1;

}

else if(h[x]>=h1 && hlx]>=h2){
hix]+=1.0;

}

else if(h2>=h1 && h2>h[x]){
h[x]=h2;

}

elseq{
printf ("ERROR\n") ;

}

wl=0,0;

hil_av=0.0;

h2_av=0.0;

if (=0 && t%(_L)==0){
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sum1=0.0;

sum2=0.0;

for(x=0;x<_L;x++){
suml+=h[x];
sum2+=h [x] *h [x] ;

}

hl_av=suml/_L;

h2_av=sum2/_L;

wl=h2_av-hl_av*hl_av;

width[jl+=sqrt(wl);

Jjt+;

/* 0000000 wOOOOO 10000 */

w2=w3=wd=wb=wb6=w7=w8=w9=w10=w11=0.0;

for (j=_A; j<_A+_INTERVAL; j++){
w2+=width[j];

}

w_av[0]=(double) (w2/_INTERVAL) ;

for (j=_A+_INTERVAL; j<_A+_INTERVAL*2; j++){
w3+=width[j];

}

w_av[1]=(double) (w3/_INTERVAL) ;

for (j=_A+_INTERVAL*2; j<_A+_INTERVAL*3; j++){
wa+=width[j];

}

w_av[2]=(double) (w4/_INTERVAL) ;

for (j=_A+_INTERVAL*3; j<_A+_INTERVAL*4; j++){
wb+=width[j];

}

w_av[3]=(double) (w5/_INTERVAL) ;

for (j=_A+_INTERVAL*4;j<_A+_INTERVAL*5; j++){
w6+=width[j];
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}

w_av [4]=(double) (w6/_INTERVAL) ;

for (j=_A+_INTERVAL*5; j<_A+_INTERVAL*6; j++){
w7+=width[j];

}

w_av [5]=(double) (w7/_INTERVAL) ;

for (j=_A+_INTERVAL*6; j<_A+_INTERVAL*7;j++){
w8+=width[j];

}

w_av[6]=(double) (w8/_INTERVAL) ;

for (j=_A+_INTERVAL*7;j<_A+_INTERVAL*8; j++){
wo+=width[j];

}

w_av [7]=(double) (w9/_INTERVAL) ;

for (j=_A+_INTERVAL*8;j<_A+_INTERVAL*9; j++){
wlO+=width[j];

}

w_av[8]=(double) (w10/_INTERVAL) ;

for (j=_A+_INTERVAL*9; j<_A+_INTERVAL*10; j++){
wil+=width[j];

}

w_av[9]=(double) (w11/_INTERVAL);

/* Oo00dod0d0wOOOoOoooooooooooo
wl2=w13=0.0;
bunsan=0.0;
delta=0.0;
for(a=0;a<_N;a++){
wil2+=w_av[a];
}
w_bar=0.0;
w_bar=(double) (w12/_N); /* 00
for(a=0;a<_N;a++){
w13+=(w_av[a]-w_bar)*(w_av[a]l-w_bar);
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bunsan=(double) (w13/(_N-1)); /* 00
delta=(double) (sqrt (bunsan/_N)); /x 00

printf ("w_av=%1f\n",w_bar) ;
printf ("bunsan=%1f\n",bunsan) ;

printf("delta=)1f\n",delta);

fclose(datafile);
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E Ballistic depositionU 00 g0 000 OO O
Oooooon

/* Ballistic deposition */
#include <stdio.h>
#include <math.h>

#define SIMPLE_SPRNG
#include "sprng.h"
#define SEED 985456376

/* simple interface */
/* SPRNG header file */

#define
#define
#define
#define

_L 10000
_MAXT 181
_SAMPLE 1000
_N 11

main(){
FILE *foutl,*xfout2,*fout3,*foutd,*xfoutdb,*foutb,*fout7,*fout8,*fout9,*foutll;
int x,y,t,1i,j,a;
double hi1,h2,suml,sum2,hl_av,h2_av,w0;
double wl,w2,w3,wd,wb,w6,w7,w8,w9,wl0;
static double h[_L],width[_SAMPLE] [_MAXT] ,w_av[_N];

fout1=fopen("exponent_betall.dat","
fout2=fopen("exponent_betal2.dat","w");

fout3=fopen("exponent_betal3.dat","

I

fout4=fopen("exponent_betal4d.dat","

b
I

I

fout6=fopen("exponent_betal6.dat","
fout7=fopen("exponent_betal7.dat","

I

fout8=fopen("exponent_betal8.dat","

3

W'
W
W'
W

foutb=fopen("exponent_betalb.dat","w"
W
W
W
-

fout9=fopen("exponent_betal9d.dat","

I

)5
);
);
);
")
);
)5
W

fout10=fopen("exponent_betallO.dat","w");

init_sprng(DEFAULT_RNG_TYPE,SEED,SPRNG_DEFAULT) ; /* Initialization */

39



for(i=0;i<_SAMPLE;i++){
for(j=0; j<_MAXT; j++){
width[i] [j1=0.0;
}
}
for(a=0;a<_N;1++){
w_av[a]=0.0;

}

for(i=0;i<_SAMPLE;i++){

j=0;

h1=0.0;

h2=0.0;

for (x=0;x<_L;x++){
h[x]=0.0;

}

for (t=0;t<=_MAXT*_L;t++){
x=(int) (sprng()*_L);

if (x==0){
hi=h[_L-1];

}

else{
hi=h[x-1];

}

if (x==_L-1){
h2=h[0];

}

else{
h2=h[x+1];

}

if (h1>h[x] && hi1>h2){
h[x]=hi;

}
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else if(h[x]>=h1 && h[x]>=h2){
h[x]+=1.0;

}

else if(h2>=h1 && h2>h[x]){
h[x]=h2;

}

else {
printf ("ERROR\n") ;

}

w0=0.0;

hil_av=0.0;

h2_av=0.0;

1f (=0 && t%(_L)==0){
sum1=0.0;
sum2=0.0;
for (x=0;x<_L;x++){

suml+=h[x];
sum2+=h [x] *h [x] ;

}
hl_av=suml/_L;
h2_av=sum2/_L;
wO=h2_av-hl_av*hl_av;
width[i] [j]=sqrt(w0);
jH+;

I

b

}

wl=w2=w3=w4=wb=w6=w7=w8=w9=w10=0.0;

for (i=0;i<_SAMPLE;i++){
fprintf (foutl,"%1f\n",width[i] [90]);
wl+=width[i] [90];
fprintf (fout2,"%1f\n",width[i] [100]);
w2+=width[i] [100];
fprintf (fout3,"}%1f\n",width[i] [110]);
w3+=width[i] [110];
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fprintf (fout4,"%1f\n",width[i] [120]);
wa+=width[i] [120];

fprintf (fout5,"%1f\n",width[i] [130]);
wh+=width[i] [130];

fprintf (fout6,"%1f\n",width[i] [140]);
w6+=width[i] [140];

fprintf (fout7,"%1f\n",width[i] [150]) ;
w7+=width[i] [150];

fprintf (fout8,"%1f\n" ,width[i] [160]) ;
w8+=width[i] [160];

fprintf (fout9, "%1f\n" ,width[i] [170]);
wO+=width([i] [170];

fprintf (fout10,"%1f\n",width[i] [180]);
wl0+=width[i] [180];

w_av[1]=(double) (w1/_SAMPLE) ;
printf("w_av[1]=)1f\n",w_av[1]);
w_av [2]=(double) (w2/_SAMPLE) ;
printf ("w_av[2]=)1f\n",w_av[2]);
w_av [3]=(double) (w3/_SAMPLE) ;
printf ("w_av[3]=)1f\n",w_av([3]);
w_av [4]=(double) (w4/_SAMPLE) ;
printf ("w_av[4]=}1f\n",w_av[4]);
w_av [5]=(double) (w5/_SAMPLE) ;
printf ("w_av[5]=%1f\n",w_av[5]);
w_av [6]=(double) (w6/_SAMPLE) ;
printf ("w_av[6]=%1f\n",w_av[6]);
w_av [7]=(double) (w7/_SAMPLE) ;
printf ("w_av[7]=%1f\n",w_av[7]);
w_av [8]=(double) (w8/_SAMPLE) ;
printf ("w_av[8]=%1f\n",w_av[8]);
w_av[9]=(double) (w9/_SAMPLE) ;
printf ("w_av[9]=%1f\n",w_av[9]);
w_av[10]=(double) (w10/_SAMPLE) ;
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printf ("w_av[10]=)1f\n" ,w_av[10]);

fclose(foutl);
fclose(fout2);
fclose(foutl);
fclose(foutd);
fclose(fouth);
fclose(fout6);
fclose(fout7);
fclose(fout8);
fclose(fout9);
fclose(fout10);
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F Ballistic depositionO 00O 0000 OO O
Ooooooad

#include <stdio.h>
#include <stdlib.h>
#include <math.h>

#tdefine _SAMPLE 1000
#tdefine _MAXT 181
#define _N 11

main(int argc, char *argv[])
{
FILE *finl,*fin2,*fin3,*find,*finb5,*fin6,*fin7,*fin8,*fin9,*finl0,*fout;
int i,1;
double wl,w2,w3,w4d,wb,w6,w7,w8,w9,wl0;
double bl,b2,b3,b4,b5,b6,b7,b8,b9,b10;
static double width[_SAMPLE] [_MAXT] ,w_av[_N];

if (argc!=12){
printf ("hikisu error\n");
exit(1);

}

if ((finl=fopen(argv([1],"r"))==NULL){
printf("readfile error\n");
exit(1);

}

if ((fin2=fopen(argv[2],"r"))==NULL){
printf("readfile error\n");
exit(1);

}

if ((fin3=fopen(argv[3],"r"))==NULL){
printf("readfile error\n");
exit(1);
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if ((find4=fopen(argv[4],"r"))==NULL){
printf("readfile error\n");
exit(1);

}

if ((finb=fopen(argv([5],"r"))==NULL){
printf("readfile error\n");
exit(1);

}

if ((fin6=fopen(argv[6],"r"))==NULL){
printf("readfile error\n");
exit(1);

}

if ((fin7=fopen(argv[7],"r"))==NULL){
printf("readfile error\n");
exit(1);

}

if ((fin8=fopen(argv([8],"r"))==NULL){
printf("readfile error\n");
exit(1);

}

if ((fin9=fopen(argv[9],"r"))==NULL){
printf("readfile error\n");
exit(1);

}

if ((fin10=fopen(argv[10],"r"))==NULL){
printf("readfile error\n");
exit(1);

}

if ((fout=fopen(argv[11],"w"))==NULL){
printf("writefile error\n");
exit(1);

}

for(1=1;1<_N;1++){
w_av[1]=0.0;
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for (i=0;i<_SAMPLE;i++){
fscanf (finl,"%1f",&width[i] [90]);
fscanf (fin2,"%1f",&width[i] [100]);
fscanf (fin3,"%1f",&width[i] [110]);
fscanf (fin4,"%1f",&width[i] [120]);
fscanf (fin5, "%1f" ,&width[i] [130]);
fscanf (fin6,"%1f",&width[i] [140]);
fscanf (fin7,"%1f",&width[i] [150]);
fscanf (fin8,"%1f" ,&width[i] [160]);
fscanf (£fin9,"%1f",&width[i] [170]);
fscanf (fin10,"%1f",&width[i] [180]);

}

for(1=1;1<_N;1++){
printf ("w_av[%d]=",1,w_av[1]);
scanf ("%1f" ,&w_av([1l]);

}

for (i=0;i<_SAMPLE;i++){
wil+=(width([1] [90]-w_av[1])*(width[i] [90]-w_av[1]);
w2+=(width[i] [100]-w_av[2])* (width[i] [100]-w_av[2]);
w3+=(width([i] [110]-w_av[3])*(width[i] [110]-w_av[3]);
wi+=(width[i] [120]-w_av[4])*(width[i] [120]-w_av[4]);
wb+=(width([i] [130]-w_av[5])*(width[i] [130]-w_av[5]);
w6+=(width[i] [140]-w_av[6])*(width[i] [140]-w_av[6]);
w7+=(width([i] [150]-w_av[7])*(width[i] [150]-w_av[7]);
w8+=(width[i] [160]-w_av[8])*(width[i] [160]-w_av[8]);
w9+=(width([i] [170]-w_av[9])*(width[i] [170]-w_av[9]);
w10+=(width[i] [180]-w_av[10])*(width[i] [180]-w_av[10]);

bl=(double) (w1/(_SAMPLE-1));
b2=(double) (w2/(_SAMPLE-1));
b3=(double) (w3/(_SAMPLE-1)) ;
b4=(double) (w4/(_SAMPLE-1));
b5=(double) (w5/ (_SAMPLE-1)) ;
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b6=(double) (w6/ (_SAMPLE-1));
b7=(double) (w7/(_SAMPLE-1));
b8=(double) (w8/ (_SAMPLE-1));
b9=(double) (w9/ (_SAMPLE-1));
b10=(double) (w10/(_SAMPLE-1));

printf ("bunsan[1]=%1f\n",b1);
printf ("bunsan[2]=Y1f\n",b2);
printf ("bunsan[3]=%1f\n",b3);
printf ("bunsan[4]=Y1f\n",b4);
printf ("bunsan[5]=%1f\n",b5);
printf ("bunsan[6]=%1f\n",b6) ;
printf ("bunsan[7]=Y1f\n",b7);
printf ("bunsan[8]=%1f\n",b8);
printf ("bunsan[9]=%1f\n",b9);
printf ("bunsan[10]=%1f\n",b10);

fclose(finl);
fclose(fin?2);
fclose(fin3);
fclose(fin4) ;
fclose(finb);
fclose(fin6) ;
fclose(fin7);
fclose(fin8);
fclose(fin9);
fclose(fin10);
fclose(fout);

oooboboboboobobobobobbooooobooopbOo
0
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G ODO0ooooooood

#include <stdio.h>
#include <math.h>
#define _N 10

main(){
int 1i;
double delta,suml,sum?,sum3,sum4,sumb,al,a2,sl,s2;
static double x[_NJ], y[_N], w[_NJ;

for(i=0;i<_N;i++){
x[1]=0.0;
y[i]=0.0;
w[i]=0.0; /¥ wOOOOOO

/¥ 00000000 */

for(i=0;i<_N;i++){
printf("i=",i);
scanf ("%d",&1) ;
printf ("x=",x[1]);
scanf ("%1f",&x[1]);
printf("y=",y[i]);
scanf ("%1f",&y[i]);
printf ("w=",w[i]);
scanf ("%1f",&wlil);

}

printf("\n");

sum1=0.0;
sum2=0.0;
sum3=0.0;
sum4=0.0;
sumb=0.0;
for(i=0;i<10;i++){
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suml+=w[i];

sum2+=x [1]*w[i];

sum3+=x [1]*x [i]*w[i];

sumd+=y [i]*w[i];

sumb+=x [1]*y [1]*w[i];
}

delta=suml*sum3-sum2*sum?2;

/ 000000000 */
al=(sum4*sum3-sum2*sumb) /delta;
printf ("seppen=%1f\n",al);

/x  ODoOoooood */
s1=sqrt (sum3/delta) ;
printf ("seppen_gosa=71f\n",s1);

/* 000000000 */
a2=(suml*sumb-sum2*sum4) /delta;
printf ("katamuki=}1f\n",a2);

/x  ODoOoooood */

s2=sqrt(suml/delta);
printf ("katamuki_gosa=%1f\n",s2);
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